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Calculus Practice: Derivatives of Inverse Functions 1a

For each problem, find (f _1)' (@)

1) f(x)=2x-2,a=-2 2) f(x)=3x+3,a=-3
A) (f‘l)'(a)=% A) (f“)'(a)=-13—O
B) (1)) B (1 )@)=1
o (1 (@)= o) (1)) -1
D) {7)(e)=3 ) (}(a) -

3
3) f(x)=5x-2,a= 4) f(x)=3x-5,a=0
)L A) (1) (@) =1
A) (1)) 35 o) ()0 o
B) ()(a)={ 0 (1)@=
o (17)(@=-3 D) () (a) =3
D) (1) (@)=

5) f(x)=—4x"-3,x>0,a=-7 6) f(x)=4x’+2,a=34
A (1)@= A (7)) =L
B) (f‘l)'(a)=—% B) (f‘l)'(a):§

a1 i |
o (f )(a):§ ) (f )(a):E
D) (f‘l)'(a)=—% D) (f‘l)'(a):%

7y f(x)=V2x-2,a=2 8) f(x)=x"-1,x>0,a=0
A) Ef‘l))'(a)=4 A () (@)=1
B) (f)(a)=2 Sy 1
¢) (1 )(a)=-1 B (163
D) (f')(a)=3 o) () (a)=-1

D) (F)(@)=-
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11) f(x):x5+4x+3,a
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14) f(x)

=9

4x7+3x+2,a

13) f(x)

16) f(x)=2x"+5x+2,a=9

=9

15) f(x)=5x"+3x+1,a
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Calculus Practice: Derivatives of Inverse Functions 1a

For each problem, find (f _1)' (@)

1) f(x)=2x-2,a=-2

) () @)=
B (17)(a@)-3
0 (1) @=3
D) (f)(a)=3

3) f(x)=5x-2,a=
A) (f‘l)'(a)=—%
B) (1)) -3
o () @=-=
D) (7)) -

5) f(x)=—4x"-3,x>0,a=-7
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2) f(x)=3x+3,a=-3

A (1) (@)= 13—0
B) (1)) =
C) (f‘l)'(a)%
D) (17(a) -3
4) f(x)=3x-5,a=0
A) (1) (@) =1
B) (f)(a)=0
) (17)(a) =§
D) (f7)(a)=-3

) (6=
B) (1)) =3
o) (1) (@)=
D) ("))~
8) f(x)=x"-1,x>0,a=0
A (1) (@)=1
B (@)~
o) (f)(@=-1
D) (F)(@)=-
0
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14) f(x)
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4x7+3x+2,a

13) f(x)

“A) (17)(a) =

D) (17)(a) =

16) f(x)=2x"+5x+2,a=9

=9

15) f(x)=5x"+3x+1,a



